
MEX35A - 35 PC MASTER EXTRACTOR SET

Parts Breakdown



Item: MEX35A

Description: 35 PC MASTER EXTRACTOR SET

 N/ANotes:

Figure No Part Number Description No. Reqd Warranty Code

1 SES25A 1/8 IN  SCREW EXTRACTOR 1 A

2 SES25B 5/32 IN  SCREW EXTRACTOR 1 A

3 SES25C 3/16 IN  SCREW EXTRACTOR 1 A

4 SES25D 7/32 IN  SCREW EXTRACTOR 1 A

5 SES25E 1/4 IN  SCREW EXTRACTOR 1 A

6 SES25F 9/32 IN  SCREW EXTRACTOR 1 A

7 SES25G 5/16 IN  SCREW EXTRACTOR 1 A

8 SES25H 11/32 IN  SCREW EXTRACTOR 1 A

9 SES25I 3/8 IN  SCREW EXTRACTOR 1 A

10 SES25J 13/32 IN  SCREW EXTRACTOR 1 A

11 SES25K 7/16 IN  SCREW EXTRACTOR 1 A

12 SES25L 15/32 IN  SCREW EXTRACTOR 1 A

13 SES25M 1/2 IN  SCREW EXTRACTOR 1 A

14 HDCLM5A 5/64 COBALT DRILL BIT 1 T

15 HDCLM7A 7/64 COBALT DRILL BIT 1 T

16 HDCLM8A 1/8 IN  COBALT DRL BIT 1 T

17 HDCLM10A 5/32 COBALT DRILL BIT 1 T

18 HDCLM12A 3/16 IN  COBALT DRL BIT 1 T

19 HDCLM14A 7/32 IN  COBALT DRL BIT 1 T

20 HDCLM16A 1/4 COBALT DRILL BIT 1 T

21 HDCLM18A 9/32 COBALT DRL BIT 1 A

22 HDCLM19A 19/64 COBALT DRILL BIT 1 A

23 HDCLM20A 5/16 IN  COBALT DRL BIT 1 A

24 HDCLM22A 11/32 IN  COBALT DRL BIT 1 A

25 HDCLM24A 3/8 IN  COBALT DRL BIT 1 A

26 HDCLM26A 13/32 IN  COBALT DRL BIT 1 A

27 HDCLM28A 7/16 IN  COBALT DRL BIT 1 A

28 HDCLM30A 15/32 IN  COBALT DRL BIT 1 A

29 HDCLM32A 1/2 IN  COBALT DRL BIT 1 A

30 EO1A SCREW EXTRACTOR 1 1 A

31 EO2A SCREW EXTRACTOR 2 1 A

32 EO3A SCREW EXTRACTOR 3 1 A

33 EO4A SCREW EXTRACTOR 4 1 A



34 EO5A SCREW EXTRACTOR 5 1 A

35 EO6A SCREW EXTRACTOR #6 1 A


